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8.a. Mandy has 4q nickels and

q+10 dimes
b. If Mandy has S5 in quarters, she has
5.00 +0.25 = 20 quarters. So, she
4(20) = 80 nickels and
0+ 10 = 30 dimes

Rubric
a. 1 point for each expression

b. 1 point for number of nickels; 1 point
for number of dimes:

9 Atk=5:

11(5)+97527?:11(5)+97257%

15
=55+9-25-12
- 5

55+9-25-3
=64-25-3

c. No; if you only know the volume,
you don't know how the boxes
are arranged. They could be in
one layer of 32 boxes, two layers of
16 boxes, etc

Rubric

a. 1 point

b. 1 point for answer; 1 point
for explanation

c. 1 point for answer; 1 point
for explanation

d
12.a 7m+10[§]

b. It will cost $69.
7(7)+10[g]:7(7)+1n(2)

=49+20
=69
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c. Itwill cost $51.
7(3)+1o[§]: 7(3)+10(3)
=21+30
=51
Rubric
a. 1 point

b. 1 point for answer; 1 point for work
c. 1 point for answer; 1 point for work
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Name Date. Class
6.EE.2c

SELECTED RESPONSE Select all correct answers.

Select the correct answer. 5. Which expressions are equal to 41 when

1. Helen bought notebooks and pencils for
school. The number of pencils she
bought is given by 6(n - 3), where n is
the number of notebooks she bought
How many pencis did Helen buy if she
bought 5 notebooks?

@ 2 pencils

® 12 pencils
© 27 pencils
(@ 48 pencils

2. In what order should the operations be
performed to evaluate 6x° - 2 at x = 37
@ First, multiply 6 by 3. Then, square

the result. Finally, subtract 2 from the
result

(B) First, find 3. Then, subtract 2 from
the result. Finally, multply the result
by6.

(© First, find 32 Then, multiply the result
by 6. Finally, subtract 2 from the
result

(D First, multiply 6 by 3. Then, subtract
2 from the result. Finally, square the
result

3. What s the value of the expression
8 1
8 1 anaar
" A

evaluated at d = 47
@ 9d+5

® 7+3d°

© 10d-1

2

()] 11d-
® *-23

CONSTRUCTED RESPONSE

6. A rectangular box with dimensions ¢
by wby h has a surface area A given by
26w+ 2¢h+2wh. Its volume V'is
given by V = fwh. If the dimensions of
the box are given as 5 feet by 3 feet by
25 feet, what is the surface area and
volume of the box? Show your work.
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The area of a triangle is given by the

1

formula A== bh. What is the area of the

2
triangle if =5 and h =47

®2 © 45

® 25 [OR

7. Evaluate the expression %y+|n+y’ for
y=8
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8. Mandy has g quarters. The number of
nickels she has is 4 times the number of
quarters. She has 10 more dimes than
quarters.

a. Write expressions for the number of
nickels and dimes Mandy has.

b. How many nickels and dimes does
she have f she has $5 in quarters?

9. Evaluate the expression |1k+97k2—%

at k=5. Show your work

11. Rosa is putting cube-shaped tjssue boxes
into a shipping crate. Each tissue box has
asside length of 4 inches.

a. The volume V of a cube is given by
V=5°, where s is the side length of
the cube. What is the volume of one
tissue box?

b. If 32 tissue boxes fit into the crate
without any gaps or space left over,
what is the volume of the crate?
Explain how you find your answer.

c. Can you tell what the dimensions of
the crate are if you only know its
volume? Explain why and give the
dimensions, or explain why not.

10. Mark incorrectly evaluated the expression
4x+12 - ¥ at x= 2. His work is shown
Identity and correct Mark's mistake. Show
‘your work.

12. Tyler s planting a garden. The garden
will contain mums that cost $7 each and
daisies that cost $10 for 3.

a. Write an expression for the cost of m
mums and d daisies.
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4(2)+12-22

4(2)+10?
4(2)+100
8+100
108

b. How much will it cost for 7 mums and
6 daisies? Show your work.

. How much will it cost for 3 mums and
9 daisies? Show your work.
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6.EE.2c Answers

1.8
2.c
3.A
4.0
5.A,D,E
6. The surface area is 70 square feet.
A=2(5)(3)+2(5)2.5) + 2(3)(2.5)
=10(3)+10(2.5)+ 6(2.5)
=30+25+15
=70
The volume is 37.5 cubic feet
(5)3)(2.5)
15(2.5)
=375
Rubric
1 point for surface area; 1 point for

surface area work; 1 point for volume;
1 point for volume work

7.76

Rubric
2 points

Rubric
1 point for answer; 1 point for
reasonable work

. In the first line of Mark’s work, he

subtracted 2 from 12 before evaluating
the exponent. The order of operations
states that exponents should be
evaluated first and that subtraction
should be performed last.

42)+12-2 =42)+12-4
=8+12-4
=20-4
=16
Rubric
2 points for identifying mistake;
1 point for correcting mistake;
1 point for reasonable work

~a. The volume of one tissue box is

4%= 64 cubic inches.

b. The volume of the crate will be equal
to the total volume of 32 tissue
boxes, which is 32 x 64 = 2048
cubic inches_




